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1. gelEma oMRr v r his / her
T glerar ; Serial No
HTvT o | OMR Answer

2 ‘??W ELIGEC equired to give
Jov 5/ heir own words as

3. qIEAl Ik the right hand margin
E! : i

4. gol  F Wﬁﬁdﬁ' ‘E? & %T\T 4. 15 minutes of extra time have been
wEeE @t 15 e @ R allotted for the candidates to read

&5 fear = & the questions carefully,
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E Iligi

5 T py !ffr'}‘m.? o aogl 1 # 5. This question booklet is divideqd inge,

BUE-¥ U5 mvw-w, two sections Section-A Ang

Section-B.

' e -A there
O WYE-N W 70wyl wyr & fon} 6. In SectionA,
& fa&=7 : é 70 obfective type questiong oy
35 pvat .HET FaT T of which any 35 questions are
S 34 0 o 35 @7 8 qeAFT 35 questions are answered, th,

&) 9% & R 1 siw Freffer #/  only first 35 will be evaluated. Rq,,

: ' 1 mark
i question carries For
TR I 37 F forg IyerRy @t Mo answering these darken the ciy,

OMR STT-T9% 3 R T Gt B Lim piue / black ball pen agqip,,
& '7?#/' Wifﬁ'd?#mﬁﬁ}j the correct option on OMR Angwer

&t of TFT & WsTAv R Sheet provided to you. Do net Use
T / e A 4 whitener / liquid / blade / nai]
4 / 7 #T OMR etc. on OMR Answer -‘ma;

IIC-TAE H aqir Fver g g otherwise the result wiy p,
T G TRV sy gy treated invalid.

7 m—ﬂ'ﬁgoﬁgaﬁﬁa’mf; 7. In Section - B, therearezﬂghoﬂ
TF F [T 2 3% Frffty &, formf  answer type  questions, pey
#W:awﬁwaﬁréﬂ carrying 2 marks, out of which

A F#IS'?E‘:' &5 7 &g o any 10 questions qre to be

_ answered. Apart from these, the
53?&‘3???!71?:9?&#7?#5‘;13&'?5 are 6 long answer typer?
& 0 5w P g g g questions, each carrying
f=7 3 @yt @y Fv S marks. Oyt of which any
farsf g. y : 3 questions are to be answered.

8. [dl w3 7% 3ysvor =
31T Qi afe & .

Use of any electronic appliances is
strictly Pprohibited.
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WUE - % / BECTION - A

TIPS W / Objective Type Questions

N¥T Weur 18 70 ww & e wvr o wrr e firwer g g, Fored o qw
T 1w g e e oMR sz wr fufrn w1 fadl
¥ &7 39 #F) 35x1=35

fion. Nos. 1 to 70 have four options, out of which only one (s correct.

~ You hnvg to mark your selected option, on the OMR Sheet. Answer any

95 questions. 35x 1 =35
B ‘mﬁmmﬁmmmt?
' (A) iifas sfusime (B)  wmafaw sifigeimo

(C)  (A) 3R (B) grt (D) i & @

Which of the following adsorptions forms multimolecular layer ?
(A) Physical adsorption (B) Chemical adsorption
(C) Both (A) and (B) (D) None of these

4 2% gl 4 Iufeda Hyfedl %1 e s R

F«'
W

Sy

(A) FTE B

& fazumg (D)  TgHs

F
g l" 25A/12/112 - Page 3 / 40
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2

Impurities present in an ore are called “
(A)  Flux (B) Gangue Li
(C)  Alloy (D) Slag |
3. mﬁ?ﬁfﬁﬁmﬁ%mﬁm@g%mﬂﬂgﬁﬁm%* k
(4) Al B) cC
€ Mg (D) s
The process of smelting involves reduction of metal oxide with f
(A) Al Bj. ¢ E
€ Mg (D) s ;
;
¥ 4 R Ly 2 1
:
i (A)  TF Hbwuy g

(B) uF Aoz
(C) Wﬁm (D)

D

U p-&ATh #T qeg

Lutetium (Lu) is

(A)  a transition element B) a lanthanide
(C)  an actinide "(D)  a p-block element
294/12/112 ] T T ———
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[118]
5.

(D) 21¥ 29

Elements : :
of which atomic numbers belong to 3d transition series ?

(A) 22 to 30 (B) 21 to 30

(C) 21 to 31 (D) 21 to 29

6. ﬁw%%aﬁrﬁmmmu@%g%wﬂﬁﬁﬁaﬁmm%

Ti +212 773 K s Til 1675 1C-

4 »Ti + 21,
(A)  FEAIH (B) difem
© MaPw (D) w&A Wiy

The process of purification of metal represented by the following
equation is called

773 K 1675 K

Ti+21, » Til, »Ti + 21,
(A) Cupellation (B) Poling
(C) Van Arkel (D)  Zone refining

25A/12/112 - Page 5 / 40




E lll&i

> fusffen 7 @t wrg faga- e 8 S a#) B B P
(A) Na (B) Mg
(€ Al (D) Fe

Which of the following metals is not obtained by electrolysis ?

59, Na (B) Mg
(C) Al (D) Fe
8. fmfifgd § #4 atfeurse gy 8 ?
(A) CO, (B) ClO,
(C) S0, | D) si o,

Which of the following oxides is paramagnetic ?

Al ® co,

i T (DY iy,

2. ﬁﬁrﬁvﬁaﬁaﬁqwuﬁmg??

4 e _ By

c 3+

Ll (D i
25A/12/112
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(D (18]

Which of the following ions is diamagnetic ?
(A} Cr** B V2
[C] SC3+ {D} Tl'h

0. WIR(Z =29 ) w1 vawgifs foara &+
(A)  [Ar]) 3d?4s2 B)  [Ar] 34194
(C)  [Ar] 3d%4s? (D) [Ar] 3d'%4s”
The electronic configuration of copper ( Z = 29 ) is
(A)  [Ar] 3d”4s? (B)  [Ar] 3d'04s

(C) [Ar] 3d®4s? (D)  [Ar] 3d'04s?

11, SHTae ol %1 gW el fammm g 2

&) (n-2)"*(n-1)s?pa%n

32
B (r-2)""Mn = 1)d'%ns?

© (n-2)f"*n- 1)d %lns?

D) (n-2)d%(n S Amary

Page 7 | 40

25A/12/112




Which of the following is the electronic configuration of | i .

elements ?

@A) (n=2)f""1%n-1)s?p%d V'ns?
B (n-2)r°"1%n-1)d%s?
© (n-2)f2"n-1)a%ns?

(D) (n-2)d%(n-1)F0-14,41

(A) Ag,S0, [B_] .CuF
: : 2

Ag,S0, (B)  CuF,
Cu,Cl, (D) MgF,
13. K, [Fe (cmﬁ;ffﬁﬁmaﬁ’tﬂ‘fﬁ@ﬁwmmn% *
4y +2 (B
€ o 54
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The oxidati
alion state of Fe in K, [ Fe (CN)g | is

(A) +2
B) +3
C) o
(D) +4
T I [Cofen CLI" ¥ Co %t et wramy v 2
(A) 27 (B) 36
(C) &g (D) 35

The effecti -
Ve atomic number (E.A.N.) of cobalt in complex ion

[Co(en),CL]* is

(a) 27

(B) 36

© 83 B) 28

5. W@mmwm@ﬁnﬁiﬂaﬁﬂﬂ?%?

4 I

LUBe it A
" OH
0 1

 Hes r—008 B
e OH

}5&/12{112
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Which of the following is the structural formyjgy .
hypophosphorous acid ?

H I
|
@ HO—P=0 @) o
i OH
o 0
i Il
(cp HO—P—OOH (o) HO— T_GH
108 OH
16.  HIFAT ! GE@ET S GHaT 2
(A) CaOgm (B). P,0,,3M
(C) ¥R H,S0, 3/ (D) 3T CaCl, gl

Ammonia can be dri;ad by

(A) CaO (B) P,O,,

(C) Cone. H,S0, (D)  Anhydrous CaCl,

17.  Ffafed § $17 qad waw an 2 -

(A) ﬂsH3 (B) SbH3
€ P H, (D) NH,
| 25A/12/112
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[118]
Which among the following is the strongest base ?
(A)  AsHj, (B) SbH,

(C) PH, : )  NH,

SO, # S &1 HHWI &t 2

3

(&) sp’ B) sp
(C) sp*d (D) sp°d’
The hybridization of S in SO, is

3

(A) 5P2 (B) sp

(C) sp’d (D) sp°d?
AT I I FEEAhl

@ 2 ® 3

C) 4 D) 5

The maximum covalency of nitrogen is

Ay 2 (B) 3

Cc 4 (D) 5

Page 11 / 40
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lllil'
e et B
20, F9 wiefiaa & uw 3 F smgfie sdaeta )

Al 0 B) 2

D 4
€ 3 (D)

The number of unpaired electrons in one molecule gf liquig
oxXygen is

A o (B) 2

(€ 3 (D) 4

21 “@ﬁﬁﬁmwwﬁwm@mﬂq%ﬂ

(4] He

(B) Ar

(C)  Xe D) Rp

The most abundant noble gas in atmosphere ig

(A)  He

C) xe

Page 12 / 40
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zn| 200 Fie:; I Fe

E’ *lzn=-ﬂ-?av,E'Fe2+|F‘c=-ﬂ-4W
® 12y B o032y
C =Tow @) -032v

The electromotive force of the following cell is

anzn " F‘ez"'

E'an"JZn:-ﬂ.?ﬁv, E Be?* |Fe = —0. 44V
W ® 032V

© Tl D) -032V
23.  fafdre areiehea 1 31 Bt & »

(A)  ohm cm! (B) ohm cm2

1 -2
C) ohmicm?! (D) ohm!cm

———
L25A/12/112 Page 13 / 40




The unit of specific conductance is
hm em~2
(A)  ohm em-! (B) o

o, —
(C)]  ohm! cm-! (0) ohm™ tm

(A) 1% i B) 1% hiw

(C) 1% Nacl (B) 1% cacl,

Which among

boiling point »

(A) 1% glucose B) 1% Sucrose

(©) 1% Nacy (D) 1% cacl,

ﬁqﬁ—rﬁmﬁﬁwwwmﬂ

@) a1 2 (B)  fouie &1 syams

(D) FYATE H7 3527

[IIB] l

24, ﬁ%ﬂ%ﬁ%ﬁmmmm?

the following aqueous solutions has the highegt

Page 14 / 40
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Whizt following i not a colligative property ?

(A)  Vapour pressure

(B)  Depression of freezing point

(D)  Elevation of boiling point

s ﬁﬂﬁﬁiﬁﬂ%ﬂ%%ﬁ?ﬂaﬁaqﬂmmmﬁm%?
(A) i {E!]. YR &9

(C) ThISt D) e

An aqueous solution of which of the following compounds shows

abnormal osmotic pressure ?

(A) Uréa (B) Common salt

(C)  Glucose ; (D) Sucrose

27 98 faegq St Usee % faw @ gareqs 91 Foners foaem cufa 2, 3@ =

T 2
(A) ey faeeA (B) ar&afesh faergm

' Page 15 / 40
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itive or negative deviatign .
The solution which shows posituve h‘

Raoult's law is called

rue solution
(A) Ideal solution B) T

i lution
(C) Non-ideal solution (D) Colloidal so
28.  wuquwd faea &1 suE g 2
(A)  wuEft gE

(B) 491 g
(C) 9™ Tr4 %1 grifiges argma

(D) TS &7 IAI
Isotonic solutions have equal
(A} osmotic pressure

(B)  vapour pressure

(C)  relative lowering of vapour pressyre

(D) elevation of boiling point

25A/12/1 12‘\
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0 Hﬁam["i{c”hlz‘ﬁmﬁt

A) e
(B) aquherehid

C) o aeflg (D) s
The structure of complex ion [ Ni (CN), |2~ is

(A)  Linear (B) Tetradedral
(C)  Square planar (D) Octahedral
0. wifes A [ Co(NH,)4 JC1, %1 IUPAC AW &

(A)  EEEIUHE FiETee (1) TS

(B)  EHETHA hiaree (IT) FAUES

(C) BFETEHHA ;@aﬁw@qﬁiﬁ (I11)

(D) | T U IS 81 |

(A) Hexa-ammine cobalt (I1I) chloride
(B) Hexa-ammine cobalt (II) chloride

(C) Hexa-ammine trichloridocobalt (III)

(D) None of these

(118]

The IUPAC name of complex compound | Co(NH,)g ICl, is

| 25A/12/112
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[ g,
D]

HqEHAT R ?
Prferfn & @1 ferdbor amraaan safifa 7 @t
31.
(A NO; s
2

(© cN- S

: isomerism ?
Which of the following cannot show linkage i

(4)  Noj; (B) SCN”
(€ cCN- (D) NHy
32. nﬁnﬁ%:ﬂq%mﬂaﬁsﬁ%mmﬂﬁmﬁrﬂﬁﬁWﬁﬁmﬁm#
Fed &
(A) ST 3qgeq (B 3y=gg
© 35 afirfp

alcoholic KOH is called

(A) Hydrolysis

(B) Reduction
€ Wurtz Feaction (D) Carbylanune reaction

Page 18 / 40
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118 |
FeiRes & #44 s L |
A ccl,.cho (B) CCl,.CcOCH,
(€ cclcoccy, (D) cCl, CH, OH
Which of the fnlluwing is chloral ?
(A)  CCl;.CHO (B) CCl,.COCH,
(C)  CcClcoccl, (D) ccl; CH, OH
34, Tefafea & Reew v fRye Fgo # 2
(A) CHgel B8] ccl
(C) CH,GL (D) CHCI,
Which of the following has zlem dipole moment ?
(A) CH4CI - B ccy
(©) CH,CL ' (D) CHCl,
{'3}-15 FI !
35. CH, —CH— CH— CHy %1 IUPAC 7 % »
A 3FER-2-ARE SR (B)  2-FRI-3-Afuw
() wEEEfeE RIS e S
Page 19 / 40
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I 1
E CHjy 'i:i !&3

The IUPAC name of CH,y — LI:H — CH—CH, is
(A)  3-chloro-2-methyl butane

(B} 2-chloro-3-methyl butane

(C) Isoh;_ltyl chloride

(D) Secondary butyl chloride

36. Ti=fafad § #17 veee gua afafean em 7*

o
(A) CCI,CHO '(B) CH;—C—CHO

|

CH,
(C) CH,CHO (D) HCHO

Which of the following would give Aldol condensation reaction ?

i
(A)  CCl,CHO (B) CH,—C—CHO
|
CH
(C) CH,CHO (D) HCHO

37. TR 4 3ufm war & ~
(A)  10-20% Gffes ot (B) 109 Wifew 3w

(C)  6-10% UHifes 3 (D)  100% UHife® anw

25A/12/112
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[118]
Vinegar containg

. 3 :
(A)  10-20% acetic acid (B)  10% acetic acid

(C)  6-10% acetic acid (D)  100% acetic acid

CH;COOC, Hg %1 IUPAC T & »

) | A B) i T

©) e (D) R .

The IU;E’AC name of CH;COOC,H; is

(A) Methyl propanoate (B) Ethyl ethanoate

(C) Acetoethane (D) Ethoxyethane

E
! 30, ue Ui ST ETHI 3 BT @

(A]  CHaol B) C,HanoN
i

[D] C HERN

n

[C] C nH'E n+ BN

1740
25A712/112  Pagrdli




The general formula of an amine 18

H, ,.N
[A} CHHEJHIN {B] Cn 22

{€6) C.Hy 3N (D)  C.H, N

s0. Frafiriam i w1 fewant s 2 »

BT A
(A) oA FAFS (B) 7 wewifis 3t q}'
(€) R e Kk
Which

of the following is Hinsberg reagent ?
(A)  Benzene sulphonyl chloride
(B)  Benzene sulphonic acid

(C)  Ethyl oxalate

(D)  Acetyl chloride

25A/12/112
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e
CHs o ? —NH,? w=
CH,
IR (B) ¥¥veh b
€ <hiEh W (D) Wi wao
CH,
CHg— 'F_ NH, isa 4
CH,
(A} Primary amine (B) Secondary amine
(C)  Tertiary amine (D)  Ammonium salt

42, 9! Td Ol =1 Hid 2

(A) gH (B) HaEd

Q) TG (D) &0 @ g+t

(A)] milk (B) butter

(C) cheese (D) all of these

A7/ Page 23 / 40




43, Tl wom iR ) sififiea o fafere an fRwis fnkc #e 2

(W) ST S wEmw () 3wl % @i W

(C) w7 W (D)  AT9HRT T

-

The specific rate constant of a first order reaction depends upon

(A) Concentration of reactants

(B)  concentration of products

(C) time

(D)  temperature

44, ﬁﬂa@HﬁMﬂWWﬁﬁﬁW%ﬂﬁﬁ
Hfufrar 2 »

(A) 1 |
e 3 5

The hydrolysis of cthyl acetate in the presence

of dil. NaOH is a
reaction of which order 7

g 1 (B) 2
€ 3

}.

Page 24 / 40
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(A) 1 and
. (B) 2and3

Q) Tands (D) 2 and 4

fﬁﬁ?ﬂanmﬁﬁ3ﬂﬁﬁﬁnaiaﬂﬂﬂﬁ¢ﬁﬁ%,aﬂ==khi“£ﬂ";iﬁﬁﬁmﬂdﬁ
Hife & -

(A) 51 B) n

C) n+1 ' (D) ¥ & =13 T
The expression of rate for a chemical reaction is, rate =k[A][B]" ;

the order of reaction is

(D)  none of these

HiE EESIETEE hidisel [Herdd % W § Fefofea § #19 faa swes

Y &5 G9ET 8 ?
': ﬂ] KBr [B] KQSD4
(©) -I(QCI‘G.; (D) KE{FE{CN]E.]
Page 25 / 40
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[ 12 3
Which of the following electrolytes is the least effective in muw

coagulation of colloida] solution of ferric hydroxide ?

(A)  KBr B) K,SO,

€  Kycro, (D) K;[Fe(CN),]

48, ﬁqﬁi&ﬂﬁﬁﬂﬂ?“ﬂﬁﬁ;ﬂ;%p

(4)  wmEE ®

Page 26 / 40
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52.  autmsfier agerehtE HI I B u
(&) dtosfodio (B) A
() e (D)  GIeTEATES
The product of addition polymerisation is
(A) PVC (B) Nylon
(C) Terylene (D) Polyamide
53. fififan § w1 iR @i 2 2
(8)  uieifATee Fise (PVC)
B)  wiehfEe Y (PVA)
(C) dehearge
(D) &7 & ¢ 78

Which one of the following is a thermoscfting plastic ?

(A)  Polyviny] chioride (PVC)

(B) Polyvinyl acetate (PVA)

(C)  Bakelite

(D) None of these

25A/12/115
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id i n as
Alkali salt of palmitic acid is know

(A} an alkoxide (B) an ester
(C)  asocap (D) an epoxide
57, Te-Hf wmer s de i T ) e e 2
A 2 ® 3
5 D) 12

A 2 s
o (D) 12
Fafafes & 534 TEIER 39 78 2 5
(A)  Kci (B _ esc
C) =g D) o goge
Which of the fullnmng is not g Crystalline soliq ?
(A)  Kci (B)  cscj
(A8 (Glags

(D) Rhombpje sulphur
(2587137 e M b 3 Ly

Page 30 / 40




- .--:l":,: i sl';;,;!{ {55 ]"ﬁ__*_f s R e Tih A T

o percentage o e pace i oy cenvd i i cl
rabeist &) :
% 52 . s 34
© 280 00 S 0
(a) Wiﬁz e B) Hirsw .
[C]- qﬂg@maﬁm (D ﬂﬁﬁgﬁmﬂﬁﬁ‘tmt

: | Page 31/ 40
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i ce at
In electrolysis, oxidation takes pla

(A) Anode
(B) Cathode
(C) Both anode and cathode

(D) Depends upon electrolyte used

62. 32 g HiwH H IH FW % U faga f fFah amn 6 v

gldl 8 ?
e B 2%
© 3% (D) 4%

The quantity of electricity required to liberate 32 g of oxygen is

(A) 1 faraday B2 faraday
(C) 3 faraday - (D) 4 faraday
63, T2
(A) i srar (B) “m TeaTEE
(C) Wi HTFITS D) i S st
25A/12/112
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Chloroform is

T
(A]  Primary halide
{

(C) Trihalogen denvatm: 5 (D) Tetrahalogen derivative

Rt 1 e A &

) =C—OH - (B) _-’CH w

) —CH,OH TF” i G
l;alcohalaisfm

General group(s) fo |
(B] :‘ CH- OH

(D) all of these

€ =G Page 33 / 40
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(D) 8

The number of isomeric alcohols of molecular formula

C4H,,0 is

(A) 2 B) 4

€ 7 (D) 8

mxﬁcrzo?%amaﬁsﬁmﬂﬂ%wfmi

)  cH,cocH,

67.

B)  cH,cHO
(C) Hcooy

(D) cH,coon

Methyl alcohg] on oxidation With acidifieq KEC:-EG? gives
(A) cH 3COCH,

B) CcH,cHo
(C)  Hcoon D) cH,cooy
68. Eﬁ%ﬁmfﬂtww%wﬁ@ﬂnm%
@A) o Rans § wy 3 B) R a3
€ gt & wq 3 D) s & wg 3




D | 8]

Diethyl ether finds its use in medicine as

(A)  pain killer (B) hypnotic

(C) antiseptic (D) anaesthetic
60. rEite ANl 1w g}

(A)  C.H,.0 (B) CyHyneO

© CHpnu© (D) & & = T

The general formula of carbonyl compound is

(A) C_H, O (B)  CyHn20

(€) C,Hp,.0 (D) none of these
70, FE P ATEH W EHiCEEES

] (A) T B)

: (c) 3 D) 7 @ w7
] At room temperature, formaldehyde is
(B) liquid

(A) gas

-a (C) solid (D) none of these

(25A/12/112 Page 35 / 40
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@UE - ¥ / SECTION - B
9 IWIT 9T / Short Answer Type Questions

mmzﬁzowaﬁﬁwf;ﬁ#mwﬁ%ﬁ??f”ﬁ**ﬁﬂ
2 % Fretee # 10 x S

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions

Each question carries 2 marks - 10 x 2 =29

1. Mﬁmﬁmﬁﬁfﬁﬁﬂgﬁmﬁ%wﬁﬁl

—

Write the names of the catalysts used in contact process ang

Ostwald process.

2 éilﬂﬁ#ﬁﬁmm (I1I) FAZE 93 o)

Write the formula of Tetra-aminoaquachluridﬂ-cnhajt (1) chloride,

3. weadwar fsd wed #

What is metamerism ?

I T Jrhrgeet Mg o1 § -

R -

What are chiral and achiral compounds ?

S awH Ui st 7o § o

What are €ssential aming acids ?

| _25A/12/112 s g NSNS
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ﬂ [118)

o 0, TH vEE
. g Al & Tr suaen wa & | wEeE
:rﬂ be
3 behaves as a strong oxidising agent.” Explain.
7. OIHS T8 ?

What is slag ?
8. JEQU I & 8 ?
What are Macromolecules ?

9. R % fgd- e gad fydw fem @ o

Write Faraday’s 2nd law of Electrolysis.

10. wfed AT K,[Cr(C,y0,);] 1 IUPAC AH ford |

Write the [UPAC name of complex compound KE[Cr{CQO4}3].
(1. ufe tesieie @1 e Cacg'mngﬂﬂra’iqﬁﬁsmam% ?

Why is ethyl alcohol not dried by anhydrous CaCl, ?

12, aqﬁﬁ?raatﬂmﬁﬁlﬁl

Write Arrhenius equation.

13, ﬂfﬂﬁmﬁﬁsﬂ?mﬁaﬁﬁ?

How would you preparc ethane from methyl iodide ?

Page 37 | 40
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15.

16.

i 0

18.

19.

20.

Uifeeits @ smRrwnt ang &3 wm »

How would you prepare iodoform from acetylene ?
PCl; T ¥1a 9 2, Wy NCl, 7&| #i 2

Why is PCl5 a known compound, but NCI, is not ?

T AR T T H gorn § Tewiaiar oot § o g g &)
i ?

Why are alcohols more soluble in water than alkanes of same

molecular weight ?
FYATH & IaTT F 39 =T qHEA § ?

What do you understand by elevation of boiling point ?

w1 g1 & 9" n-ﬂﬁﬂﬁﬁﬁrﬁamﬂﬁmmﬂ%maﬁﬁmm%?

What happens when n-butyl chloride reacts with alcoholic KOH ?
Ueshiglel Ud Hriel § 3= W8 |
Distinguish between Alcohol and Phenol.

SIS & 319 H9 Franfie w1 g 2 -

Why is nitrogen molecule less reactive ?
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¥ 39T W9 / Long Answer Type Questions
7T WS 21 § 26 I Ity wyw & | et 39w & IAE | 9w F fo0
5 3% fgifRa & : 3x5=15
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks : 3x5=15

21, tewe % Praw 6 oren w36 Pam % e § A e W S
faerl § frg war fadg = 2

Explain Raoult’s law. How would you distinguish between ideal and

non-ideal solutions on its basis ?

29, m%aﬁm@rmwmﬂ%%?m%mﬁﬁﬁw%ﬁﬁﬁ
==! Hi

What do you understand by concentration of an ore ? Discuss the

different methods of concentration of ores.

23. (a) ﬁﬁﬁﬁam@@ﬂﬁ%%ﬁm%@ 3

(b) ﬁnﬁiﬁﬁaﬁrﬁ@%mpﬁcm%ﬁ: 2
) CHy—GH= 1;: —CH,
CH,

(i) CH,—CH — CONH,
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(a) Differentiate between Methanoic acid and Ethanoic acid.

(b)  Write IUPAC names of the following compounds :

() CH;—CH,— I;I—CHE
CH,

?r
(i) CH;—CH-— CONH,

24.  HIEIETEIE 1 R 2 T i @ fean wmar & 7 2+3

What are carbohydrates ? How are they classified ?
25. (a) DNATH RNA ¥ 37=R samQ| 3
(b) feer® are w0 § 2 2
(a)  Differentiate between DNA and RNA.
(b) What are nucleic acids ?

26. ﬁgamwﬁmﬁﬁmﬁgﬁmmﬂaﬁm%ﬁl%@ﬁﬁgam

4§ TEvI-§g F 9 uEE 2 349

Differentiate between Electrochemical cell and ElECtrulyti -

What are the importances of salt bridge in an electrochemical cell ?

_————
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